So\Ag.Jca\/ gl.\/\CZO\%\/\'\C Ly C O
2 M/LL‘AWW?QL NN~ LUV R C

Lol inay iy/@oyjmt
vwmogﬂmm VSGQM”MQQA’

RN NI

1) ] Lodne vesen
)3 prave Yesen.
%>3<x7{€géhf

Un Cewe oAb ol
WADY W O POPT S e



\/\RQSJL\/\ O gﬁ'/\DOPW L anhve
Mo A e le )

@@wggv A @(MM\/\ nCe

MO’\JC'/' <Q/ “m .O/w\
N .
\/\/\XVX @Vv\4 | _.__.@V\/\\/\
Tobwlea m %@%%M

A\ S(@V\@CM

QDESIIQV\\ QM_...-O]/\V\ /(61
Mot Ce '

Cohstanh

Dn Gon | 4.,

Cel schodwy tion




oyl o »fam.wl/f}
VN Ll/k}j;o\
0 \(ﬁf;f % #/\}é Col(pfy

léy(ﬁ: j%i@ 7w!@\/ /LQSQW
kw)% 7+ =0 S)ﬂéﬁim B

LL%}% - ¥ = N=) Attave w@(
k%?% A< \7]% iﬁgém

X ddpovidox - ~ LUl adny
Osﬂotv\ 58@“ VO(W

) Soh Vol \%Mmmwuy
kX /Z <C/\
(q G mww WW




(MY Q‘%(ﬂir/?)
Wﬁ%ﬁﬁi( e

vcjwm
1 L\ GO\M SC

\__/

3 2 =5
2 =19
0312] [0 ]




x+2y—-z=9
y—z=1
z=4

Z=4 => y=5 => X:3

4x = 3x,+ 22— x, =8
Z 3 —2x%+x,—3x, =7 ’ﬁ
5% —3x, +x—8x =1
4
3
L

-3 2 -1 -1 0 1 7 -1 0 1 7|7
(1) (2) i3
-2 1 =3[7|=3 -2 1 =3[|—= 0 -2 4 1828(—=

-3 1 =8| 5 -3 1 =g[ 0 =3 6 2736
-1 0 1 7|7 -1 0 1 77

(4

=0 -1 2 %14 (=0 -1 2 94
0 1 -2 =912 0 0 0 0]2

-2x—x+x+2x =-1

xn+ex,—3x+x =4

3 tx,—2x-2x=2 ’—é
25 +2x%,—4x+x,=5

-2 -1 1 2 1 1 2 =3 1|4 1 2 -3 1|4

1 2 =3 1|4 |W]-2 -1 1 2 =120 3 =5 47 (i3
— — -

31 =2 =2|2 1 -2 =-2|2 0 -5 7 =5-10

2 2 =4 1|5 2 =4 115 0o -2 2 -1|-3

1 2 =3 1|4 1 2 -3 1|4

1 2 -3 1|4
0 1 =3 3|4 [0 1 =3 3|49
- - =0 1 =3 3|4 [=(4]8)
0 -5 7 =510 |0 0 -8 10[10
0

0 0 4 =5-5
0 -2 2 -1/-3 0 -4 5|5

=X, X, Yo = Lot adny,

K =VoLha=) Xy=C
(CGQ\ ‘\(4\/ 7 - T~

3
2




X3 = Cay Xy = Cy
yp/ —N0C, =13, — )

Ka=712 LGS




X, —" 1Tt + 5

év) [0/7_ %2><17L>(;:5

f;érfY1+1X3:}’{>
i )
AR R EE A

L kx+13 Hesen,

et ) TR e 1
==& ,
Top- =
11727 o

O - — )dhes
(ga-45p




§ - /Yq - C-)

pa—

e



